PAPER-III
PHILOSOPHY

Signature and Name of Invigilator

1.

2.

D[R] 1

(Signature)
(Name)
(Signature)
(Name)

4

Time : 2 '/, hours]

OMR Sheet No. :

Roll No.

(To be filled by the Candidate)

(In figures as per admission card)

Roll No.

(In words)

[Maximum Marks : 150

Number of Pages in this Booklet : 32

Number of Questions in this Booklet : 75

Instructions for the Candidates qhenteat & foro fde

1. Write your roll number in the space provided on the top of | 1. T8 U= &% W Fad ®H W 0T ﬁ?{ -‘-rmr{ fafaw |
this page. ) ] ) ) 2. T UA-UF H UUETR Sgfashedd uee

2. This paper consists of seventy five multiple-choice type of | 3 q—ﬁ;m RS B W, We-gReeh m a, < T-lTaTﬁ |
questions. - . o e SO a- e q 3HE AfeREd

3. At the commencement of examination, the question booklet S & fow & S, ST AU Iavd
will be given to you. In the first 5 minutes, you are requested @Brat?r FT
to open the booklet and compulsorily examine it as below : @ Wm ? fere e Wﬁj? % s
(i) To have access to the Question Booklet, tear off the tm?’- ' W g‘% Rl

paper seal on the edge of this cover page. Do not accept
abooklet without sticker-seal and do not accept an open (i) W W w ﬁé—m -3 a; gt3,
booklet. 1 ﬁmﬁ@m%wﬁ%&ﬁ
(ii) Tally the number of pages and number of questions L i F#!'ﬁﬁ;? ﬁT“'Tﬁ' J3/0eT A g ar AT A
in the booklet with the information printed on the ™ Foar "7 g e e ot mew &)
cover page. Faulty booklets due to pages/questions Ffequt WHW T HT de0 A a1 39
missing or duplicate or not in serial order or any ANEHT TqF T W {{Tﬁ W& q9A-uREsT of of |
other discrepancy should be got replaced imn.led'iately TH% T enuet Ot e f S | SEd e T
by a correct booklet from the invigilator within the Al TS ATT-IRAHT aqd ot AR ST T @ Saest
period of 5 minutes. Afterwards, neither the Question Sfafea ang ﬁ'ﬂT R |
B.ooklet will be replaced nor any extra time will be (iii) 3@ S % 91§ OMR 5% I 1 T 30 W‘W
oeven. W afhd T |
e ey e o e NSO | s S e s frer (4. (5, (€) 7 ()

4. Each item has four alternative responses marked (A), (B), (C) T E | TR e SH g B U H W B BT &
and (D). You have to darken the circle as indicated below on St f e femmr T E
the correct response against each item. EHI) :@ . @

Example : ©) I e |
where (C) is the correct response. 5. i éawéwamwﬁawés F=TE ™ OMR =&

5. Your responses to the items are to be indicated in the OMR & sifha w3 & | AT 3T OMR WW%‘& T g % ST
Sheet given inside the Booklet only. If you mark at any ot 317 T W 3R Tereifehd #3d €, O SHebT Hodish
place other than in the circle in the OMR Sheet, it will not be TET ' |
evaluated. 6. 3IT<Y i@ Tre} ot =t mﬁqﬁﬁh‘ Ie |

6. Read instructions given inside carefully. 7. %=a S (Rough Work gﬁ?—m (-;F A T8 W AL |

7. Rough Work is to be done in the end of this booklet. g AR 3T OMR UFF W T % el AU AW, T

8. If you write your Name, Roll Number, Phone Number or put TR, T A=Y 77 Fe ot oo foe e oot e Bt
any mark on any part of the OMR Sheet, except for the space T, 31%6 FIA F AT I U FH TN F €, AT FE
allotted for the relevant entries, which may disclose your = T S UENT S £ o fE sifed e T
identity, or use abusive language or employ any other unfair e ER'FFIT’
means such as change of response by scratching or using gfmﬁw %ﬁ?}lmﬁfi?_;ﬁ%ﬁ a it % for
white fluid, you will render yourself liable to disqualification. Y o o .

9. You have to return the test question booklet and Original 9. T 3 - A7 OMR %%
OMR Sheet to the invigilators at the end of the examination {e1eh TR Bl SERA ¢ ST TR W b
compulsorily and must not carry it with you outside the SY SO W I WO Y SRR A K ST | @reliich 3
Examination Hall. You are, however, allowed to carry original e FHIE W e T ‘l;‘ﬁaﬂ T4 OMR W51 I @i
question booklet and duplicate copy of OMR Sheet on Tfd O W W ST W‘ |
conclusion of examination. 10. whael =i/t et 131?2‘ U B A TEHTT &Y |

10. Use only Blue/Black Ball point pen. 11. frd oft TR ®T HTUTE a1 ART anfe 1

11. Use of any calculator or log table etc., is prohibited. AT afera © 1

12. There is no negative marks for incorrect answers. 12. 7T TR & foTT g THRTETH 37 & ¢ |

13. In case of any discrepancy in the English and Hindi versions, | 13. qﬁ' ST 41 &St foeror & g fogmia &l r-ﬁ TS foaor
English version will be taken as final. HET ST |

D-03-14 |

P.T.O.



PHILOSOPHY
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.
All questions are compulsory.

1. By what sannikarsa do we perceive all the members of a class according to the Nyaya ?

(A) ViSesanata (B) Yogaja
(C) Samyoga (D) Samanyalaksana

2. Select the code that states the dravyas which are neither bhita nor mirta according to
the VaiSesikas :
(A) Akasa, Kala, Dik (B) Kala, Dik, Atman
(C) Dik, Atman and Manas (D) Akasa, Atman, Kala

3.  Which one among the following is not a nityadravya in VaiSesika metaphysics ?

(A) Paramégg (B) Dvyanuka
(C) Kala (D) Manas

4. Consider Set — I and Set — II and select the code correctly matched following Vaisesika

metaphysics.

Set -1 Set — 11
a. Parasamanya i.  Dravyatva
b. Aparasamanya ii. Indriyatva
c. Paraparasamanya 1iii. Satta
d. Upadhi iv. Ghatatva
Codes :

a b c d
(A) i i 1 iv
B) i iv i ii
<O 1 iv il i

(D) iv RS VI 111

5. Select the relation through which Brahman is related to cit and acit according to

Ramanuja.
(A) Tadatmya (B) Samavaya
(C) Svariipa (D) Aprthaksiddhi
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6.  Consider the following Assertion (A) and Reason (R) and select the correct code :
Assertion (A) : Tryan_u_ka must have parts (dvyan_u_ka)

Reason (R) : Whatever is visible must have parts viz. a pot.

Codes :

(A) (A)is true, but (R) is not and (R) is not the correct explanation of (A).
(B) (A)is true, but (R) is not and (R) is the correct explanation of (A).

(C) (A) and (R) both are true and (R) is the correct explanation of (A).
(D) (A) and (R) both are true and (R) is not the correct explanation of (A).

7.  Which of the following are acceptable to Aristotle ?
(a) Different types of living beings have different types of soul.
(b)  Soul is the form of a living body.
(c) The soul can exist apart from the body.
(d) The rational part of the soul is not fully developed in some human beings.

Codes :
(A) (a)and (b) (B) (b)and (c)
(C) (a), (b)and (¢ (D) (a), (b) and (d)
8.  ‘No two substances can resemble each other entirely’ is supported by
(A) Leibnitz only (B) Spinoza only
(C) Leibnitz and Descartes (D) Leibnitz and Spinoza
9.  ‘Personal identity consists in the sameness of consciousness’ is the view supported by
(A) Descartes (B) Berkeley
(C) Kant (D) Locke

10. Match List — I with List — II and choose the correct answer with the help of codes given

below :
List-1 List — 11
(Philosophers) (Views about objects)

a. Descartes i. A collection of ideas
b. Spinoza ii. An extended substance
c. Leibnitz iii. A mode
d. Berkeley iv. An aggregate of spiritual atoms
Codes :

a b c d
(A) ii i i iv

B) i i i v
©) i i iv i
D) ii iv i iii
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10.

MTHT (A) 3 HROT(R) W R X 3R Tel e ol 997 e :
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 YAN

(A) (a) 3R (b) B) (b) #HR (c)

(©) (a), (b) 3 (c) (D) (a), (b) 3 (d)

T ST R AAT-HH 6l & Tehd |’ 39 Hel ol T&TeT i € ?
(A) HaA AEfoTest (B) FeeT fegreT
(C) oEfeTea 3R I (D) oEfeTe 3R ferST

“ATeTeh 3TTIAT T hl GHEYAT H THET & I’ 39 T T TeTeR i & ?
(A) FF (B) et
(C) e (D) @H

Tt — T gt — 11 & a1 gaferd Y 31T 19 KU $2f T el S 1 a9

e -1 = - 10
(CLUEED) (ag-fawae w@)
a. S i e ey
b. T ii. fowma s=
c. Wl iii. TEE
d. Skt iv. eTetcns STuLstl 1 A=
E T
(A) 1 1 i iv
®) i i i v
©) 1 imiv i
M) i v i i
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11.

12.

13.

14.

15.

16.

Which one of the following is not acceptable to Kant ?
(A) Space and Time are a priori.

(B) Space and Time are not general concepts.

(C) Space and Time are transcendentally ideal.

(D) Space and Time are not empirically real.

Anvitabhidhanavada is related to

(A) Kumarila

(C) Jaimini

(B) Prabhakara
(D) Gautam

The theory of error accepted by Kumarila is

(A) Satkhyati
(C) Atmakhyati

(B) Asatkhyati
(D) Anyathakhyati

According to Advaita Vedanta, when we perceive snake in a rope, then

(A) the snake is unreal.
(B) the snake is real.

(C) the snake is neither real nor unreal.

(D) none of the above.

Match List — I with List — II and select your answer from the codes given below :

List -1
a. Samkhya 1.
b. Buddhism il.
c. Nyaya-Vaisesika iil.
d. Mimamsa iv.
Codes :

a b c d
(A) i i v

B) i i i iv
©) iv i i i

D) iii i i v

List - IT
Paratahpramanya Paratahapramanya
Svatahpramanya Svatahapramanya
Paratahpramanya Svatahapramanya

Svatahpramanya Paratahapramanya

Perceptual knowledge is that which is not preceded by some other knowledge. This view

is accepted by
(A) Mimamsakas
(C) Jains

Paper-I11

(B) Naiyayikas
(D) Grammarians
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11. Ffcifiaa § 9 9 91 T Hic Sl WihE Te € 2
(A) T5o 3T et umHfes € |
(B) & 3iR et g9 TV el € |
(C) 5o 3T et STefifsa MR & |
(D) T5e 31X et STufess aens € |
12.  SATCAIEETE T T &
(A) FHRSA I (B) UWIER §
(C) wmFd (D) A g
13.  FANe §RT G wo-fagia &
(A) F @A (B) 37 A
(C) areq @A (D) 3= =1
14. 3150 A3 % IR 519 &9 3o5] § 94 & & ¢ af
(A) T TG BATE | (B) WA IMA B ¥ |
(C) Fa T g &, 7 3@ | (D) SUIH | I HIE T
15. e — 1 gt — 1 & 91 gaferd 3 9 53 70 Fel @ 9t ST 61 =99
T -1 = - 11
a. 9= i. O U W ST
b. dE ii. T WTHOT i ST
c. E-ASiTE iii. R YOG W AU
d. wwrEr iv. T&a: UMY WA ST
E T
a b c d
(A i i il v
B) i i i v
€ iv i i i
D) iii i i v
16. TcIeT T 9 ¢ ST Yo IS 3 [ el &l | 98 B Wi 6T &
(A) w3 (B) =ataeRt =
(C) At (D) ST A
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17. According to Nyaya illusion is based on one of the following kinds of perception :
(A) Samanyalaksana (B) Jnanalaksana
(C) Yogaja (D) Nirvikalpaka

18. According to Locke knowledge consists in
(A) Agreement between ideas
(B) Disagreement between ideas
(C) Perception of agreement or disagreement between ideas and objects

(D) Perception of agreement or disagreement between ideas

19. Match List — I with List — II and choose the correct answer with the help of codes given

below :
List -1 List - II
(Philosophers) (Distinctions)

a. Hume i.  Possibility, Compossibility

b. Leibnitz ii. Knowledge by acquaintance,
Knowledge by description.

c. Russell iii. Knowing that, Knowing how

d. Ryle iv. Antecedent scepticism,
Consequent scepticism

Codes :

a b c d
(A) i iv il il
B) iv i i il
(©) it v il i

M) i i i v

20. Select the correct option by considering Assertion (A) and Reason (R) given below :

Assertion (A) : Quine rejects radical reductionism of empiricists.

Reason (R) : Our statements about the external world face the tribunal of sense

experience as a collective body.
Codes :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Paper-I11 8
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17. =9/ % AR 9 frefafad & 9 g U Toet 1T i ¢ 2
(A) TMHETICTRT (B) IHcTeToT
(C) =T (D) Ffaseas

18. T % 3TER TH Al &
(A) UTF % ST HeArd 9
(B) UHAl & o 3TeEnfd o
(C) UTAl Ua a3l o S Wenrd a1 STHeHld o UAeIeHor &
(D) VeIl % ST T AT STUEHTd o Teiieheor §

19. gt — I gt — [1 ¥ GAferd Y 3R e el st Temdn ¥ T8t 3T & 997 o ;

e -1 =t - 11

(3TEAT) (fere)
a. ¥ i, Evgan, eEyeadr
b. wEfsTes i, e A= T, foeRuTeTh T
c. e i, ST, ST R
d. W iv. e AT, STl SRS
% :

a b c d
(A i iv i il
B) iv i i il
(©) it v il i

M) i i i v

20. 31 (A) 31 @ (R) W foaR &Y T et fashed 1 =97 &
ARTHUT (A) : T AT % Scohe AR FH GUH F & |
T (R) : ST ST Faares e STTemeri st TRl SFeargat & =aashor § T O & &1
HEdr g |
FT:
(A) (A) 3T (R) 3T T € 3R (R), (A) Tl T& AT T |
(B) (A) 3R (R) 3! T & W (R), (A) Tl Tel AT el ¥ |
(C) (A)TAE, T (R) SEAT |
(D) (A) JFAE AR (R) TAE |
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21.

22.

23.

24.

25.

26.

‘Empiricists are like ants; they collect and put to use; but rationalists like spiders, spin
threads out of themselves’ was said by

(A) Locke (B) Bacon
(C) Berkeley (D) Ayer

Which one of the following is acceptable to both Descartes and Locke ?
(A) We know the objects directly through perception.

(B) Memory is the criterion of personal identity.

(C) Intuition and demonstration give us certain knowledge.

(D) Existence of God follows from the very idea of God.

“Pratyaksam kalpanapodam namajatyadyasarmyutam” this definition of Pratyaksa is given
by

(A) Dharmakirti (B) Dinnaga

(C) Vasubandhu (D) Ratnakirti

Consider the Assertion (A) and the Reason (R) and select the correct code as given below
in the context of Nyaya Epistemology.

Assertion (A) : Sound is eternal.

Reason (R) : Sound is audible.

Codes :

(A) (A)is true, but (R) is false and (R) is not the correct explanation of (A).
(B) (A) and (R) both are true, but (R) is not the correct explanation of (A).
(C) (A) and (R) both are true and (R) is the correct explanation of (A).

(D) (A)is false and (R) is false, but (R) is the correct explanation of (A).

“All things are eternal because they are knowable” — this argument commits the fallacy of
(A) Asadharana savyabhicara

(B) Aérayasiddha

(C) Badhita

(D) Anupasamhari savyabhicara

Select the correct sequence :

(A) Pratijha, hetu, upanaya, udaharana

(B) Pratijia, hetu, nigamana, upanaya

(C) Pratijna, hetu, udaharana, upanaya

(D) Hetu, udaharana, pratijiia, nigamana

Paper-I11 10 D-03-14



21.

22.

23.

24.

25.

26.

fr=feiad & 9 fohae et fob “sTvaanst difedl &t T &, @ TUE A € TR SHHT ST Hd &,
feorq et Hepfedl &t avE oo FiaT & gt B g 8 2

(A) ®® (B) e

(€)= D) TR

fr=fafad 5 & F 41 fased S 3R @ 3T o §RT W@ § 2
(A) &H IEI P TG T T 3T 5RT ST € |

(B) i Saforeh S=aT ot A € |

(C) 3FTU 3R a9 & Mivad 99 7oM< € |

(D) ¥R I AT&ed 9o & foaR ¥ ufdwieid & |

“TIETH, SHeTATIIEH ATHSICATRTIg oI — Wedel i a8 T & T8 & :
(A) gH=IT (B) fm=m
(©) =Y (D) TR

AWFHT (A) 3R T (R) 1 TAA0T B qAT =G T WA & ol 7 50 ™ Fei § q Tl
ToreheT o =g HY

afueme (A) : @ e &

& (R) : S 5= € |

HT:

(A) (A) T ¢, AfFT (R) 31H & 3R (R), (A) Fl Tt A T € |

(B) (A) 3T (R) THT T & Al (R), (A) T Tel e el ¢ |

(C) (A) IR (R) IHI ¥ & 3 (R), (A) Hl T&l AT |

(D) (A) 31T (R) I 319 € Afeh (R), (A) T T&l AT E |

el et e ¥ TR & 3 B — g gl Pt ade ¥

(A) ITHYROT HANER (B) 3mEAEE
(C) = (D) SFIEERT FANER
TEl 1 T TG Y

(A) WfcsT, &, 3, STMER0T
(B) Widam, &q, M, 30T
(C) Tfd=, &, ST, U
(D) q, ST, s, e
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27.

28.

29.

30.

31.

According to Buddhists avinabhava sambandha is based on
(A) Tadatmaya, Karanata, Nisedha

(B) Tadatmaya, Niyat Sahcarya, Nisedha

(C) Karanata, Nisedha, Niyat Sahcarya

(D) Nisedha, Niyat Sahcarya, Karanata

According to the Buddhists which option states about the kinds of perception ?
(A) Indriyavijiiana, Manovijfiana, Samanyalaksana, Yogijiiana

(B) Manovijfiana, Sva-Samvedana, Indriyavijfiana, Jhanalaksana

(C) Sva-Samvedana, Manovijiana, Yogijiana, Jiianalaksana

(D) Indriyavijiiana, Manovijiiana, Sva-Samvedana, Yogijfiana

Loka Samgraha means

(A) Actions for the benefit of the liberated souls.
(B) Actions for the benefit of humanity.

(C) Actions for attaining liberation.

(D) None of the above.

Consider Assertion (A) and Reason (R) in the context of Gita and mark the correct code :
Assertion (A) : One should follow Swadharma

Reason (R) : This produces happiness.

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)is false, but (R) is true.

(D) (A)is true, but (R) is false.

Match the List — I with List — II and choose correct answer from the code given below :

List -1 List - II
(Authors) (Texts)
a. Sarkara i.  Nyaya Manjari
b. Jayarasi Bhatta ii.  Tattva Kaumudi
c. Jayanta Bhatta iii. Brahma Sitra
d. Vacaspati Mishra iv. Tattvopaplavasingh
Codes :

a b c d
(A) i i v il
B) ii  iv i il
© 1 1 v il
D) iv i i ii
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27.

28.

29.

30.

31.

Fig T % IR AT Heer FR el §
(A) ORI, HROTT, Fog

(B) dwRre, fad aeed, oy

(C) T, oy, Had aeed

(D) o, e Aead, SR

frefafad 5 & i 91 faseT Sigad & AR el & T 1 ST FHT & 2
(A) EsafoRi, TR, QHEeToT, AT

(B) TWIaRIH, W@-FarsA, afasi, et

(C) T-HagH, GAITasTH, TSI, eI

(D) Efgatame, FRifeRTH, W-Hag, AT

Ak GUE 1 37 T
(A) T e o fed o fohu T B (B) Mo % fed | fohu MU A
(C) iR it o foTw fohw 70 e (D) SWET | ¥ HE 1@l |

AT & G {0 7T 21 (A) a1 9 (R) 3T TRIET0T Y 311 TeT forehed o1 =8 Y
ATHUT (A) : T BT I FHAT AT |

% (R) : 7€ GEORH ¢ |

E T

(A) (A) 3T (R) 3T F & 3T (R), (A) Tl T&t AT |

(B) (A) 3 (R) 3T T & AT (R), (A) i T&l e =781 & |

(C) (A) 3ITA E, ABT (R) TI ¢ |

(D) (A)TH ¢, AfehT (R) ST & |

T — Tl gt — 11 & arer gaferd Y 31T 19 ST T $ei § T&t 3Tl 9a7

e -1 =t - 11
(FE) (%)

a. i =EE e

b. STERIST 9g ii. CERgET

c. STId 9E iii. SRS

d. areta fag iv. Tl g
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32.

33.

34.

35.

36.

Paper-I11

Which one of the following is known as ‘Trsarana’ according to Bauddhism ?

(A)
(B)
©
D)

Daréana, Jiiana, Caritra

Maitri, Karuna, Mudita
Sravana, Manana, Nididhyasana
Buddha, Dhamma, Sangha

Bhagavadgita has been consider as the most important work due to

(A)
(B)
©
D)

Harmonious philosophy of life.

Synthesis of Action, Devotion and knowledge.
Moral teaching

All of the above

Which one is the correct sequence of the following ?

(A)
(B)
©
D)

Ksipta, Viksipta, Miidha
Ksipta, Midha, Viksipta
Ksipta, Viksipta, Ekagra
Viksipta, Mudha, Ekagra

Which one of the following holds that ‘“The Political powers are the highest cou
appeal in the matters of morality’ ?

(A)
©

Spencer (B) Mill
Kant (D) Hobbes

rt of

Match the List — I with List — IT and choose correct answer from the code given below :

List - I List — 11
a. Kant i.  Golden means
b. Hegel ii.  Cordinal virtue
c. Plato iii. Categorical imperative
d. Aristotle iv. Die to live
Codes :

a b c d
(A) i i i v
B) i i ivo i
(C) it v il i
(D) iv i i
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32. digHd % AR (ARG § § i HERT % 9 H ST ST ¢ 2
(A) 3T¥E, IM, TRT
(B) U, oM, Hieer

(C) =, g, ffeeara
(D) T%, ¥, §

33. AT S GATEE Hedl 6 HROT H USH & T §

(A) STaA T Gl 39

(B) Topam, et 3R o 1 GH=aT
(C) =ifaes forem
(D) S g

34, FAEa g @ S T HA T 2

(A) Ty, fafera, gg
(B) T, Hg, Tafere

(C) Torm, fafera, v

(D) Tafera, gg, Tem

35. ¥ o Fefofaa 5 9 g w1 & fop Hifd Tramd) o § ot Fam & gaie =@ € 2
(A) TR

©) ==

36. Gt — 1% 91 gt — 1 3 GATId L Ta At 53 T8 e ¥ TEl ST 1 A

e -1

-

ii.

1il.

iv.

i il
i iv
iv i

1 i

(B) e
(D) @

= - 11
T HeEH

T /L
ey st

S % foe W
v
ii

i1
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Paper-I11



37.

38.

39.

40.

41.

Which one among the following holds that ‘Man is the measure of all things’ ?
(A) Zeno (B) Protagoras
(C) Auristotle (D) Plato

Which one of the following distinguishes Indian ethics from Western ethics ?
(A) The concept of Purtisartha

(B) The concept of Varna and Asrama

(C) The concept of non-violence

(D) The concept of reward and punishment

‘Consequence of action is the basis of moral Judgment.” Which one of the following holds
this view ?

(A) Hedonist (B) Intuitionist
(C) Rigorist (D) Idealist

Which one of the following thinkers has considered Justice to be as a ‘Cordinal Virtue’ ?
(A) Sophist (B) Auristippus
(C) Bentham (D) Plato

Match the List — I with List — II and choose correct answer from the codes given below :

List -1 List — II

a. Emotivism i.  Kant
b. Prescriptivism  ii. Mill
c. Utilitarianism . Ayer
d. Rationalism iv. Hare
Codes :

a b c d
(A) 1 i v
B) i i i iv
©) i iv il i

D) iv i 1 i
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37.

38.

39.

40.

41.

frfefad & 9 69 v &1 7d & T T Swge 1 9gue 8 2
(A) St (B) WrTiRE
C) IH (D) it

frfafad § 9 9 U TRA™ a9 i aeered Siaene d g6 sl § 2
(A) TEUTY F STEEROT

(B) 0T UE 3TYH I TR

(C) 3fEHT Hf STagRon

(D) 3UE UE YR i TR0

Afdeh 01T 1 UR A € | FTafaiaa 5 9 9 T o J8 7q € 2
(A) TEar (B) IT.USERT
(C) FeRdEmnE! (D) 3TEITasT

fafefad o ¥ o v faeme 7 = & g 9T % €9 § WIER 65 € 2
(A) T (B) sfeTw
(C) == (D) wie

T — 13 91 it — 11 Sl GHied L 09 919 58 T F ¥ Tol 3T H g e
e -1 = - 11

a. gamaw 1. <

b. WRER i, e

c. SWREER iii. TR

d. ggaw iv. ¥

A) i i il v
B) i i i v

(C) 1w v il i
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42. Match List — I with List — II and choose the correct answer with the help of codes given

below :

List-1 List — 11
a. Liberal Feminism 1. Simone de Beauvoir
b. Marxist Feminism ii.  Mary Wollostonecraft
c. Existianlist Feminism iii. Juliet Mitchell
d. Socialist Feminism iv. Friedrich Engels
Codes

D) 1 i i iv

43. Match List — I with List — II with regard to Human Rights Conventions and mark the
correct code.

List -1 List - II
a. Universal Declaration of Human Rights 1. 2006
b. Convention on the Rights of Child ii. 1979
c. Convention on the Rights of persons with disabilities 1iii. 1948
d. Convention on the elimination of all forms of iv. 1989
discrimination against women
Codes :
i i i v
(A) d a c b
B) c d a b
<) b c a d
D) d c a b

44. Who among the following did not criticise the concept of human rights in one form or the

other ?
(A) Friedrich Nietzshe (B) Edmund Burke
(C) Jeremy Bentham (D) None of the above

45. The popular slogan of Carol Hanisch “The personal is political” is often understood to be
synonymous with
(A) First wave feminism (B) Third wave feminism
(C) Post feminism (D) Second wave feminism

Paper-I11 18 D-03-14



42. Gt — I G — 11 % T GAfrd L 3T A T 7¢ $2i § T el ST 1 a9
e -1 = - 11
a. SERARI AREE i. OF T aEar
b. AER! ARER il T AR
c. AR AREE i, Sffeae Mo
d. TOSER AREE iy, SheRe Usied
He :
a b c d
(A i iv i i
B) i il iv i
©) i i i v
D) i i i v

43. THEATYHR THAAT & G H Gal-1 3R G-I i GHfeTd Y 317 Fei o Teraar § Tt fohea

T TIT
T -1 = - 11

a. TAFEIYR Sl TSI SooT i. 2006
b. Sl % MYHR T TN THAT ii. 1979
c. ToeRetT SATeal o SIHR T TN THE iii. 1948
d. Terai & Uid Ui 99 o 3o & (ol Tee iv. 1989
E T

i i i v
(A) d a c b
B) c d a b
<) b c a d
D) d c a b

44, THRET § 9 i AHEIHN Sl Hehod=T i hEl i ©T § STTeira-T T8l Hidr & 2
(A) TheRes et (B) TUsHE 9%
(C) SR s (D) SWie | § g Tél

45. “afaaes ToMide &7 HUeT 29 1 98 ST TR 991G &
(A) WIT 3R % ARIETE FH (B) T IR F AR HT
(C) AR & (D) T5dE IR & TREE H
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46. If the major premise in the first figure is an I proposition then the fallacy is known as
(A) Undistributed Middle or Illicit Major
(B) Illicit Major or Illicit Minor
(C) Fallacy of four terms or Undistributed Middle
(D) Ilicit Minor or Undistributed Middle

47. Inductive generalization is based
(A) only upon experience
(B) only upon generalization
(C) only upon uniformity of nature

(D) upon all stated above

48. Which one is not a rule of inference ?
(A) Modus Ponens (B) Commutation
(C) Simplification (D) Addition

49. Match List — I with List — I and mark the correct option as given below :

List-1 List - II

a. Exportation i. [pqvo] =[p-qvVvp 1]

b. Commutation ii. p=(p-p)

c. Distribution iii. [(p-q) Drl=[p>(q@>r)]

d. Tautology iv. (pvq=(@QVvp)

Codes :
a b c d

(A) iii v i ii

B) i i i v

(C) iv i il i

(D) i iv i i

50. The denotation of a term is
(A) Its extension (B) Its quality
(C) Both of these (D) None of these
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46.

47.

48.

49.

50.

g =TT & YT MR H Fed a1 & o qh-I1T FHT A1
(A) ST T ST SR e A

(B) ST FER PP eI TR A

(C) =S T S AT HeATS 31

(D) SR SIS ST SFATE HEAUT 31

STHATCHS TTHITHOT 3T ¢
(A) % sFya ™

(B) 9% AMmIRIOT ©T

(C) % WIHideh THEIAT 9T

(D) SHE T W

fferfiaa o & i A 1 a2 8 2

(A) Hied T+ (B) A
(C) Touetittrerse (D) TERH

T — [ gl — 11§ Gafera Y oY A9 5w 7o el | 9 9e forsheq &1 =7 Y
| e - 10

a. THURIYHE i [p@vnl =lp-@vp-]
b. HEEH i. p=(-p

c. Tegemm iii. [(p-q) orl=[p>(@>1)]
d. Zferetsit iv. pvq=(qvVvp)

(A) 3T IR (B) TTH A&TOT
(C) ST AT (D) ST | F HIE &
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51. Which one of the following options is a suggestion of a deductive argument ?

(A) It cannot be that premises are true, but conclusion is false.

(B) It can be that the premises are not in accordance with the conclusion.
(C) Such arguments are neither valid nor invalid

(D) None of the above

52. Mark the option which is not correct.

(A) In a truth functional statement if antecedent and consequent both are true, the

statement is true.

(B) In a truth functional statement if antecedent is true and consequent is false, the

statement is true.

(C) In a truth functional statement if the antecedent and consequent both are false, then
the statement is true.

(D) In a truth functional statement if the antecedent is true and consequent is false, the
statement is false.

53. If A and B are true, but X and Y are false, then which one of the following statements
(options) is true ?
(A) ~AvX-Y)
B) (A-X)
(C) Both of these as stated above
(D) None of these as stated above

54. Check the given arguments and mark the correct option :

Argument I Argument 11

M UN PUQ

~M-~0 ~P--R

- ~N - Q
Codes :

(A) Both the arguments I and II are valid.
(B) Both the arguments I and II are invalid.
(C) Argument I is valid, but Argument II is invalid.
(D) Argument I is invalid, but Argument II is valid.
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51. TreAfefEd & & iF 91 foshed SIS iR Wb ¢ 2
(A) UGl &l & Hehell {oh TR o1 g &1 ifeh (ohy 379 & |
(B) I% G4 ¢ T MR el hd | T A & |
(C) 3 gfeeralt 7 ot S &1 7 3199 |
(D) ST § § HiE T |

52. TyeATcifiga & 9 39 forehed o =g Y ST Wl el &
(A) T TeAAThe S T ATg qaad! 3 STa I e €, df 3T T ¢ |
(B) UH GIaThe IFEA | IS qaard Tcd & a2l 3Tal 3T9c, ot 1M I ¢ |
(C) U FoIaThe ST | IS ol R SFad! 31 319 €, o ST T ¢ |
(D) TS TeAAThe S § IS qaad G & 3R STaar 379, a1 ST 37 ¢ |

53. I A MRBIAE, foeg X 3R Y 319 &, A (=Ateitad § | i 91 foshed Tel & ?
(A) ~AvV(X-Y)
B) (A-X)
(C) Wl AT
(D) SUIad § | HiE @

54, < TS gfeRTAl 1 URIEIUT Y AR Tl Tashed 1 T
RICo | RIESHI
M UN PUQ
~M-~0 -P--R
. ~N . Q

(A) 13RI gioraat a9 € |
(B) 13RI 3T gforar 319 & |
(C) Fior 199 & Ak ik I 09 € |
(D) IFRIeEy e AP AT T |
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5S.

56.

57.

58.

Which one of the given codes are correct in the context of given arguments ?

Argument I Argument 11
xS, vT)D~M,VvN) pP-q
3D S -~W) " q

3 (T, -=X)

@) (~W, 2 X))

(3 M, - Ny
Codes :
(A) Both the arguments are valid.
(B) Both the arguments are invalid.

(C) Argument I is valid, but argument II is invalid.

(D) Argument I is invalid, but argument II is valid.

Mark the option which is not correct.

(A) An affermative singular proposition asserts that a particular individual has some
specified attribute.

(B) Quantification do not alter the rules of inference.
(C) A valid syllogism is a formally valid argument, valid by the virtue of its content.

(D) ‘p -gq>mvr’ isacontingent statement.

The doctrine ‘God within man’ is accepted by
(A) Ramanuja and Kabir

(B) Kabir and Guru Nanak

(C©) Guru Nanak and Ramakrishna

(D) All of the above

Read following options and select the correct sequence of dependent origination as per
Buddhism.

(A) Samskara, Vijiiana, Nama-riipa, Sadayatana, Spar$a
(B) Samskara, Spar§a, Nama-riipa, Vijiiana, Sadayatana
(C) Samskara, Vijiiana, Nama-riipa, Sparsa, Sadayatana

(D) Sparsa, Sarhskara, Vijiana, Nama-riipa, Sadayatana
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55. <t e gfoEl o gy | A 5w T el H 9§ T b1 =

RIECH RIESHI
®) S, vT)>~M vN) p-q
F) S, - ~W) v q

(3 (T,-=X)

x) (~W, D X))

(F) M, - Ny

HT :

(A) T & gferrat Ay € |

(B) M & gferrat s@g € |

(C) FfmIay g, fhg g1 309 & |
(D) FFleEy e, g Iaue |

56. 39 oo o T wE A T8 T T

(A) U TETS Al Aasnd 98 Haiid sl & & e sfwm-foey u qor-fae o
RO T € |

(B) URHATNHIOT (FATchER) STEH & o8t Pt el axerd |
(C) TS Y =TT NHINH T F 9 Teh Jiokd ¢ [THB! Sl qeb! Tuge T e & |
(D) ‘p -qDmvVr T SHEEH TFIT ¢ |

57. AT % e} ¥R 1 (ogia fefefad § § foeh Ry gt € 2
(A) THRES 3R FelY (B) R 3R & AHH
(C) & T R IHHT (D) SwIE ot

58. THeAToIiEd foshedt & Ug X g & o Welled TS o el 569 T 99 e
(A) UK, faeM, e, TS, WET
(B) W@HR, T, ATHEY, foIsH, SeEa
(C) T=R, faeH, A&y, w9, e
(D) Tel, GEhR, fom, THET, TeEe
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59. Following are the names of Ten Gurus of Sikhism. Select the option having correct

sequence of Gurus from 1% to 10" :

(A) Guru Nanak, Guru Angad, Guru Amar Das, Guru Ram Das, Guru Hargobind, Guru
Arjan Dev, Guru Hari Rai, Guru Hari Krishan, Guru Teg Bahadur, Guru Gobind
Singh.

(B) Guru Nanak, Guru Angad, Guru Amar Das, Guru Ram Das, Guru Arjan Dev, Guru
Hargobind, Guru Hari Rai, Guru Hari Krishnan, Guru Teg Bahadur, Guru Gobind
Singh.

(C) Guru Nanak, Guru Angad, Guru Ram Das, Guru Amar Das, Guru Hargobind, Guru
Arjan Dev, Guru Hari Rai, Guru Hari Krishan, Guru Teg Bahadur, Guru Gobind
Singh.

(D) Guru Nanak, Guru Angad, Guru Amar Das, Guru Ram Das, Guru Arjan Dev, Guru
Hargobind, Guru Hari Krishan, Guru Hari Rai, Guru Teg Bahadur, Guru Gobind
Singh.

60. Who among the following holds the view that the concept of a person is ‘primitive’ ?

(A) Descartes

(C) Austin

(B) Ayer
(D) Strawson

61. Consider the following statements with regard to John Dewey and mark the correct code :
(a) Dewey criticised Cartesian notion of self.

(b) Dewey argued that self is a product of social practices.
(c) Dewey’s work ‘pragmatism’ is the foundation for pragmatist philosophy.

Codes :

(A) Only (a) is true.
(B) Only (b) is true.

(C©) (a), (b) and (c) are true.
(D) Only (a) and (b) are true.

62. Match List — I with List — IT and mark the correct code.
List—1

&

Ryle
Searle

a0 o

. Austin
Codes :
a
(A) ii
(B) iii
©) iv
(D) iii
Paper-I11

Davidson

ii.
iii.
1v.

iii
v
iii
i

List - II
Speech Acts
How to do things with words
Concept of Mind

Inquiries into truth and interpretation

d
v
ii
i
v
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59. T v & g9 THel & 9 Fefeiad § | 39 fasken #1999 Y SaE 76l % A Tedt ¥ 9%

Feh THE aH A 9 R U E

(A) & T9H, TE A, T HEM, T TR, o S, T6 I o, T 8,
% ERIHTH, TTE TTERIGE, TS A< 98 |

(B) & AF, & 3R, & TN, T TIEM, T N <9, & gUNa<, 6 e,
% ERTHYA, & ERIST, 6 M= (98 |

(C) T& T, & M, & TR, & AWEHE, & NS, 6 I 39, T6 eI,
& ERIHTH, TTE TTERIGE, TS TMia< 98 |

(D) & AME, ¥ G, T6 FAEE, To THIE, o I’ <9, 6 e, To FHIBI,
& &, & TTERISY, e Mia=< (&8 |

60. TTATREd ¥ | M 39 7d & JaTeR ¢ o Al Sl Hehou Miafed (7o) ¢ 2
(A) <o (B) TR
(C) 3t (D) wWEA

61. SIF ST ¥ Hafyd (Heteiad et W foar e 3K Tl foshed & =5 Y
(a) IS I P STCHT [T0aeh STTLROT ST 6 |
(b) IS T 5T fof STIeHT WHISTR SFeRT Ht SUS € |
(c) TIE FA UNHICST SUANTATENGT 9 i TR & |
T
(A) TOF (a) T E |
(B) fak ) T=T® |
() (a), (b) 3R (c) FAE |
(D) O (a) 3R (b) AT |

62. Tt — I ol — 11 ¥ AT L 3T el H BT 5T A

e -1 = - 11
a. A i. o TR
b. I ii. 1T & FRT AN H HURT H @ |
c. Sfasad iii. T I STEROT
d. sfife iv. T 3R e fawass o

A) i i i v
B) i i iv i
©) iv i i i

(D) 1ii i i v

D-03-14 27 Paper-I111



63. Who among the following is not a part of hermeneutic tradition ?
(a) Hans-George Gadamer
(b) Friedrich Schleiermacher
(c) Wilhelm Dilthey
(d) Wittgenstein

Codes :
(A) Only (d) and (a) (B) Only (c) and (a)
(C)  Only (b) (D) Only (d)

64. Which of the following works are not written by Edmund Husserl ?
(a) Logical Investigations
(b) Ideas for a Pure Phenomenology
(c) Cartesian Meditations

(d) Transcendental Phenomenology and the Crisis of the European Sciences

Codes :
(A) Only (c) (B) Only (c) and (d)
(C) Only (b), (c) and (d) (D) None of the above

65. Which one of the following has made a distinction between ‘pour-soi’ and ‘en-soi’ ?
(A) Heidegger (B) Schleiermacher
(C) Sartre (D) Wilhelm Dilthey

66. The first systematic expounder of Advaita Vedanta is
(A) Sarhkara (B) Ramanuja
(C) Gaudapada (D) Padmapada

67. ‘Brahman is self luminous, so Maya cannot conceal Brahman’ is proved by

(A) Aérayanupapatti (B) Tirodhananupapatti

(C©) Nivartakanupapatti (D) Swartipanupapatti

68. Which one of the following theories is not accepted by Advaita Vedanta ?
(A) Pratibimbavada (B) Avacchedavada
(C) Abhasavada (D) Ansavada
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63.

64.

65.

66.

67.

68.

frfoiad o 9 i vressTel Haigrere] TRy o 3 T8l ¢ 2

(a) &9 ST TSR (b) TheRH TFATHFT
(c) focgem Seatt (d) foeT=eET

E T

(A) e (d) 3R (a) (B) e (c) ¥R (a)
(C) = (b) (D) =heret (d)

fr=fafad B 9 i 91 oiE TeHS gdel I 761 § ?

(a) AT TR

(b) 3TE(SA R T AR HAMACATSI

(c) AT Aleeq«

(d) TrES=e HAEETST TS § Sherad 3 § JUa aead

T:lcg_c.":
(A) T (c) (B) 8 (c) 3 (d)
(C) FHadA (b), (c) 3R (d) (D) ST | F HIE T

fr=ferfiaa & @ @i O 9 T T A | AR FATE ?

(A) TSR (B) YFATHEH
(C) uH (D) faceey Soeit
35T AT & TEe! FeAEed AT &

(A) T (B) ISt
(C) TireuE (D) UEHIR

“STeT Td: UhIYd €, SHITT A1 ST&T ol SAresied Tel Y bl & — I Ad 19g {631 T €

(A) STEAMIUN & FRT (B) foRi&m=ITad & gRT
(C) FrerteprTafe = w1 (D) TRSUl & gRT
frfafaa § 9 =1 a1 fasia 3ad 9= & R W@idd Tal & 2

(A) widafearR (B) 3TTTAR

(C) 3mHTHa (D) oFTER
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69.

70.

71.

72.

73.

74.

75.

The spirit of Gandhian concept of ‘Swadeshi’ implies

(A) Only using that which is produced by one self.

(B) Absolutely denying foreign goods.

(C) Restricting to use services of immediate surrounding.

(D) Not going beyond native production.

During which movement the concept of national education was propounded ?
(A) Quit India (B) Home Rule
(C) Non-cooperation (D) Swadeshi

When did Gandhi use his Satyagrah technique for the first time ?
(A) Khera (B) Dandi

(C) Champaran (D) Ahmedabad

‘All the wealth belongs to God and those who hold it are trustees not possessor’ was stated

by
(A) Tolstoy (B) Vinoba Bhave
(C) Gandhi (D) Tilak

‘A performative utterance is used to perform an action. To issue such an utterance is to
perform the action.” This is the view of

(A) Searle (B) Wittgenstein
(C) Frege (D) Austin

Who among the following holds the view that moral terms have a ‘magnetism’ and a
moral judgement has both descriptive and emotive meaning ?

(A) Ayer (B) Prichard
(C) Stevenson (D) Hume

‘My station and its duties’ is stated by
(A) Hegel (B) Bradley
(©) Mill (D) Moore
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69.

70.

71.

72.

73.

74.

75.

T % TS hl STAROT S ot ST H SR & :
(A) HaeT ST T YANT ST e &l |

(B) faxel a&qeti s waen sfewhr |

(C) YU - ! Haall db Hifad & |

(D) ®IFE SR | T T S

fohe TR & SR T TTeTT Bt STaERoT 1 WiuTe g3t 2
(A) R4 BrEl (B) @H&EA
(C) 3redmT (D) w@REh

TS 3 WA Teheleh Sl TN Ugell S el [ohar 2
(A) == (B) =fer
(C) <UR9T (D) SRHSETR

FHET G 29 6l & ST 39 @A €, SHeh <Al & HifoTeh Tel’ — el T
(A) TR FRT (B) oM 9& R
(C) Tl §RT (D) TaoTh 51T

“Teh GG HoTeh STARUT 31 FANT S GUIRA & A0 211 € | 30 YR & STAR0T 1 Ufqure= e
TUEAE P T AT

(A) ¥ & (B) fa&werA &

(C) WH (D) i =

frfafad & @ ®F 38 79 & 99w & % Afqe i gash eian § qon A Mo §
ToreRuTIeHe: SIX T ST 81 TR & 31 8 & ?

(A) T (B) W=E
(C) TWewET (D) =™

TR T TS dedal Hed’ — I8 HAT ©
(A) T (B) siEed &l
(C) T = (D) W=
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